dated: 04/15

ROKLIMA MULTI 4F

No. 1000000138 / 184000

30

IR
il
i

Q%ZZ

()

r
G =

\\\

- m.am..i,_ﬁw

y\''5
////.WI-W V
¢ T -M f
i

s

B—r— 9 ——1—

3
Y
%
N

V@
@

\BOTHENBERGER 1


www.rothenberger.de

ROKLIMA MULTI 4F
No. 1000000138 / 184000

dated: 04/15

Item no. Description Article no. Old article no. Quantity
2 Electronic Scale 100 kg Ro-Klima R17310451 - 1
7 Lens screw M5x10 DIN 7985 7510008 7510008 28
8 Grommet ring R18101400 181014 1
10 Feeding wire 1,5 meter R18204300 182043 1
12 Cylindrical screw M8x16 DIN912 H88061 H88061 2
13 Spring washer DIN7980 A8 H88254 H88254 2
14 Washer M8 DIN-125A H98671 H98671 2
17 Polyamide tube R18204200 182042 1
18 Straight male racor 1/8" R18204100 182041 1
19 Shut-off valve 5/16" 182053 182053 1
22 Exit nut R18102200 181022 1
23 Programer label R18202000 182020 1
24 Programmer base R18201900 182019 1
25 Screw M3x10 DIN 965 R18205800 182058 4
27 General switch R18202900 182029 1
28 Programmer 4f R18302100 183021 1
30 Base R18203000 182030 1
31 Screw 4,2x13 DIN 7504-N R18204900 182049 8
32 Nut M4 DIN 6923 237002600 2370026 1
34 Screw M4X8 mm DIN 7985 F86282 F86282 3
35 Screw M4x8 DIN 965 862006000 8620060 4
36 Valve set (ROKLIMA Plus) R18305000 183050 1
37 Outside closing R18102300 - 1
38 Inner closer R18102400 - 1
39 Retaining ring D/3,2 DIN-6799 R18103400 - 1
IMPORTANT! To assure safety and reliability, repairs, maintencance and adjustment must be preformed by ROTHENBERGER

Kelkheim or authorized Service-Centers. Always use Original-Service-Parts. Order your accessories and spare parts

from your specialist retailer or using our Service After Sales hotline

2 \ ROTHENBERGER


http://www.tcpdf.org
www.rothenberger.de

1000000138 /184000 dated: 04/15
No. 1000000138 / 184000

\ROTHENBERGER 1


www.rothenberger.de

1000000138 / 184000
No. 1000000138 / 184000

dated: 04/15

Item no. Description Article no. Old article no. Quantity
3 Same bend female-male 1/8" R18203300 182033 2
6 Double same join male 1/8" R18203600 182036 1
7 Vacuum switch R18202300 182023 1
8 Presostato R18202500 182025 1
10 Straight inlet fitting male thread R18204000 R182040 1
12 Straight male racor 1/8" D/4 R18204100 182041 1
13 Same bend female-male 1/8" R18203300 182033 3
14 Solenoid valve R18202600 182026 1
15 Non return valve R18202700 182027 1
16 T same female-female side male R18203400 182034 2
17 Electrovalve R18202400 182024 1
18 T same female-female-female 1/8" R18203500 182035 1
19 Screw M4X8 mm DIN 7985 F86282 F86282 2
20 Lens screw M5x10 DIN 7985 7510008 7510008 2
21 Mineral oil f. vacuum pumps, 1l 169200 1

IMPORTANT! To assure safety and reliability, repairs, maintencance and adjustment must be preformed by ROTHENBERGER
Kelkheim or authorized Service-Centers. Always use Original-Service-Parts. Order your accessories and spare parts

from your specialist retailer or using our Service After Sales hotline

2 \ ROTHENBERGER


http://www.tcpdf.org
www.rothenberger.de

